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He needs the blood, and it is permitted — WY TR R AT

OVERVIEW

The X3 (when analyzing the query whether it is nawa %102 was ", if we
assume 7°pd 7Pon 07), explained one side of the query as follows, if he (merely)
wants (to extract) the 0°91n2 07, it is permitted to be n2wa 7°nn2 5113, for there is no
772 (since 7°PD 7Pon 07) and there is no MOR of 77112 (since he is not interested in
making a rino; he only wants the 07). N1©01N explains why there is no problem of
713, and what is the meaning of 7% X177 O7>.

nvoIN asks:
= 2NN 1YY NN 1YY PIDA NI 9NN ON)

And if you will say; but regarding making an opening, it is a 7w peop!?

N1D0IN answers:
- NN NOYY XY DTN NIINY 9I19PY 1115 7098

And it is necessary to assume that he is capable of extracting the blood
without making an opening; so even if he makes a nno, it is not a 7°w™1 P°05.

mooIn discusses the meaning of 7% X171 07°:
= DIPAIWI NINK DY U955 RHYW DTN NONIND TP98Y DN 13929 W29

The n''9 explained that he needs to extract the blood now, so that he will not
dirty himself when he will be ®»12 her another time -

mooIN anticipates a difficulty:
— MON) TN NIN DT X 92N 992N OF MINPT 197D W19

! 7w™ 0o literally means ‘chop off its head’. The rule is that a M2 7X@ 727 is permitted. One may drag a chair
across an earthen floor even though it is possible that that it will make a furrow in the ground (which is a 77210 of
W), since he is not intending (7">n» 1X) to make this furrow. However if it is inevitable that he will make the
furrow (it is a very heavy chair and the ground is relatively soft), it is forbidden, This is called w1 °09; it is as if
someone says I want to play with the head of a chicken, so I will remove it (from a live chicken), but I have no
intention or interest in killing the chicken. We say to him rhetorically N> &1 ;721 2°09; can you chop off its head
and it will not die! Obviously it will die. The 715 of 11201 PR does not apply to a w1 P°OD situation.
2 Granted that he has no interest in making a nnd (which is the 79%%n of 7112); however since it is inevitable that he
will make a no when extracting the o7, it is a 7w °09 and he should be 2’17 for 112!
3 See w"2 W 11"7 2"w1 who asks this same question and answers that since there are those who are 70772 7X°P2 (see
later 2,1 that 7°b72 PR°P2 211) and can be 9912 without extracting o7 and without making a rino, therefore it is not a
1"o9. However nvoin is not satisfied with this answer, for now we are assuming that 77% %17 072, (he wants to
extract 07) so he will not do (this) 7*°v1, and therefore it is a 7"09.
* There is a minority who know how to be 1772 %312 and be 07 X°% without making a rns.
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And according to the explanation of the n"7, we have to understand when the
X2 states later that if we assume that =22amm "an a7, then if 2 X7 279, it is

forbidden to be nawa 75102 H¥13, (for he is making a 7Man) -
= 7RO $52) NIYS DIPNA NIIYWT 5N91ND NN NIORY NINDN NMNNT 2) Uy 9N

Even though according to the n"9 this 771217 is a 779A% 72973 7KW 7o85», which
(although it is 131277% TOR, nevertheless) it is permitted to do a 3">¥xw»n where

there is pain, as we know concerning bursting an abscess, so here too it should also
be permitted to do this 3"9¥Xwn since he is performing a M1¥» N°¥2; why is it 70K —

mooIn replies that even though a 3"7¥Xwn is W 01PN N, nevertheless -
- 890N MY’ *2) NXON

Here, regarding a /3% it is forbidden 11377 to do a 3"9¥xwn, since there is no Wwx.
- U195 INDII D991 TAI9T NN WA 11997

And later (oX) 7"7 '01n 2,7) we will explain the question of "»X 27 from ©%»
XD, according to the explanation of the n''-.

mooIn offers an alternate explanation of 71 X7 27°:

$NYINA 10NN DN NMINIYD TIINY 7998 NN DTD W91 PNYY 139399
And the >''1 explains that 792 X377 27% means that he needs to see the 07 in order
to verify whether she is a 779102,

SUMMARY

"% X7 077 either means he wants to remove it so it will not dirty him another time
(n") and it is a 2"7¥RWwn, or he wants to verify that she is a 7712 (*"). There is no
7w 2°09 of 7112 since it is possible to be o7 X°¥1 without making a rno.

THINKING IT OVER
If we consider removing unwanted 07 a 2"9¥xwn,!! why is 7%°¥7n an XN»IRT NOK;
since he does not want the o7?!!2

5> He does not want the 07 that he is extracting (he would rather that there be no o7 at all). See ‘Thinking it over’.
® Others amend this to read X077 %91 >33, By bursting an abscess to remove the pus, he creates a rns.
" See ®,1p naw (and here 2,1), if he does not want the opening (just to burst the abscess) it is considered a A"73xwn.
8 According to the n"9 this MO°X to be Naw2a 7nna %912 is 132777 (if we rule like W' that 3"2XXWwn is 70X only 132777).
® The Xn3 there asks according to the one who maintains that it is nawa 75102 91w3a% MoK, why is it different from
XD 001 where it is 1N, However, according to the n"1 there is no difficulty, for a 3"?R¥wn is only 7¥¥ Q3PP NN
(as by X0 001), but not M¥» o3P»2 (as by 7700 Nawa 77°ya).
10 According to the 27 it is a 19137 72 ¥W 79877, because he wants to remove the 07 in order to see it; he wants the o7.
I See footnote # 5.
12 See (a7 1"7 '0I102) 3 MR 7"00.
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